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Shot #: 3153, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

Eandlitiqne(_JI Data (DCPS), Limits: [-1.5000000, 15.000Q00] =
-4 -2 0 2 4 6
time

"Action (idl), Max = 53.5827, End Val.= 53.5827
L Full Action (idl), Limit = 1240.00, Max.=54.0208, End Val. 53.5827
L Shot #: 3153, Param Tree: 72

lllllllllllllllllllllll

llllllllllllllllll

1 1 1 R 1 N " " 1

-4 -2 0 2 4
time

(o]

E_IDL, éircular, [-0.01126499, 5.99&596]

- DCPS, Circular, [-0.012649862, 5.9969638]
E IDL, Shaped [Displaced], [-0.0129695, 6.47604]
—DCPS, Shaped [Displaced], [-0.012969531, 6.4760394]
E Shot #: 3153, Param Tree: 72

E
lllllllllllllllllll 111 lllllllllllllllllllllll

s
N
o
N
n
o



Action

PF3U Current [kA]

N
o

]lllllllllllllll lllllllllll

)
(=

1400
1200
1000
800
600
400
200

= N
o o

o

PF3U [Post Disruption]

llllllllllll

Shot #: 3153, Param Tree: 72

lllllllllll

- Overcurrent Trip (DCPS) . _ _ _ _ _ _ _ _ _ _ _ ___ _ __ __ E
- Auctioneered Data (idl) =
F Condjtioned Data (DCPS), Limits: [-16.000000, 12.000Q00] 3

-4 -2 0 2 4 6

time

- Full Action (DCPS), Limit = 1410.0000, Max.=153.14691, End Val. 147.59845-
" Action (idl), Max = 147.596, End Val.= 147.596 ]
Full Action (idl), Limit = 1410.00, Max.=153.144, End Val. 147.596 -
C Shot #: 3153, Param Tree: 72 7

-4 -2 0 2 4 6

time

E_IDL, éircular, [-5.712502, 6.6342&)]

- DCPS, Circular, [-5.7250170, 6.6342007]

E IDL, Shaped [Displaced], [-5.24547, 6.63466]

—-DCPS, Shaped [Displaced], [-5.2454651, 6.6346600]
Shot #: 3153, Param Tree: 7 B

lllllllllllllllllll 111 lllllllllllllllllllllll

(o]



Action

PF4 Current [kA]

= N
o o

o

lllllllllllllll]l TTTTTTT

1400

1200

1000

PF4 [Post Disruption]

800
600
400
200

-
=)

)
=

llllllllllllllllllll TTT lllllllllllllllllll

lllllll

- Faults (NC): [0.10110270, 3.6630752]

EFaults (PS): [0.10110270, 3.6630752]
Faults (PC): [0.10110270, 3.6630752]
i : 819, 0.00885512]

Shot #: 3153, Param Tree: 72
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C Action (idl), Max = 187.293, End Val.= 187.293
:—Full Action (idl), Limit = 1410.00, Max.=189.951, End Val. 187.293
C Shot #: 3153, Param Tree: 72
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Shot #: 3153, Param Tree: 72

lllllllllllllllllll 111 lllllllllllllllllllllll

A
N
o
N
N
o



Action

PF5 Current [kA]

1
(6]

N
o

N
a

-20

-25
-30

7000

6000

5000

4000

3000

2000

1000

PF5 [Post Disruption]

N
o

=
o

o

TTT
111

l TTTT l TTTTAT

- Conditioned Data Range: [-16.1802, 0.0137453]

:_Shot #: 3153, Param Tree: 72
- Overcurrent Trip (DCPS) 7
- Auctioneered Data (idl) B
- Condijtioned Data (DCPS), Limits: [-24.000000, 1.5000000] =~ =
-4 -2 0 2 4 6
time

T T T T T T T T T T T T T T T T T T T T T
Full Action (DCPS), Limit = 6390.0000, Max.=795.32153, End Val. 749.473373
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Full Action (idl), Limit = 6390.00, Max.=795.329, End Val. 749.481

Shot #: 3153, Param Tree: 72
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- DCPS, Circular, [-12.340323, 0.016801923]
E IDL, Shaped [Displaced], [-13.0887, 0.0158700]
—DCPS, Shaped [Displaced], [-13.088726, 0.015870005]
E Shot #: 3153, Param Tree: 72
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Full Action (DCPS), Limit = 6390.0000, Max.=795.32153, End Val. 749.473373
Action (idl), Max = 749.481, End Val.= 749.481

Full Action (idl), Limit = 6390.00, Max.=795.329, End Val. 749.481

Shot #: 3153, Param Tree: 72
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—DCPS, Shaped [Displaced], [-13.088726, 0.015870005]
E Shot #: 3153, Param Tree: 72
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C Action (idl), Max = 187.293, End Val.= 187.293
:—Full Action (idl), Limit = 1410.00, Max.=189.951, End Val. 187.293
C Shot #: 3153, Param Tree: 72
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IDL, Shaped [Displaced], [-8.08819, 0.00885512]

DCPS, Shaped [Displaced], [-8.0881923, 0.0088551156]
Shot #: 3153, Param Tree: 72

lllllllllllllllllll 111 lllllllllllllllllllllll

A
N
o
N
N
o



Action

PF3L Current [kA]

N
o

]lllllllllllllll lllllllllll

)
(=

1400
1200
1000
800
600
400
200

= N
o o

o

PF3L [Post Disruption]

llllllllllll

Shot #: 3153, Param Tree: 72

lllllllllll

- Overcurrent Trip (DCPS) . _ _ _ _ _ _ _ _ _ _ _ ___ _ __ __ E
- Auctioneered Data (idl) =
F Condjtioned Data (DCPS), Limits: [-16.000000, 12.000Q00] 3

-4 -2 0 2 4 6

time

- Full Action (DCPS), Limit = 1410.0000, Max.=152.76646, End Val. 147.82171
- Action (idl), Max = 147.820, End Val.= 147.820 ]
Full Action (idl), Limit = 1410.00, Max.=152.765, End Val. 147.820 -
C Shot #: 3153, Param Tree: 72 7

-4 -2 0 2 4 6

time

E_IDL, éircular, [-5.712550, 6.6339%]

- DCPS, Circular, [-5.7254990, 6.6339498]

E IDL, Shaped [Displaced], [-5.24663, 6.63428]

—DCPS, Shaped [Displaced], [-5.2466333, 6.6342791]
Shot #: 3153, Param Tree: 7 B

lllllllllllllllllll 111 lllllllllllllllllllllll

(o]



Action

PF2L Current [kA]
AN
o

lllllllllllllll

)
(=

1200

1000

800

600

400

200

= = N
o o o o

PF2L [Post Disruption]

)
=

llllllllllllllllllll

Illllllll
llllllll

Shot #: 3153, Param Tree: 72
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L Full Action (idl), Limit = 1240.00, Max.=55.5514, End Val. 55.0259
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E Shot #: 3153, Param Tree: 72
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C Full Action (idl), Limit = 1100.00, Max.=5.37879, End Val. 5.31906
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E Shot #: 3153, Param Tree: 72
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= Overcurrent Trip (DCPS)

Shot #: 3153, Param Tree: 72 ;
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[ Action (idl), Max = 37.2282, End Val.= 37.2282
- Full Action (idl), Limit = 1990.00, Max.=37.5174, End Val. 37.2282
| Shot #: 3153, Param Tree: 72
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E Shot #: 3153, Param Tree: 72
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Shot #: 3153, Param Tree: 72
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| Full Action (idl), Limit = 848.000, Max.=198.132, End Val. 197.117
- Shot #: 3153, Param Tree: 72
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Shot #: 3153, Param Tree: 73
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